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(M E 2-31.5
mmgm | OP=2IMPa 30. 50. 63. 100
Qn{limin) (" \p —7MPa 17. 29. 36. 58

HERBEE (%) £10
@ERFIn (mA) 15 40
SEEE(0) 200 80
B (%) <4

oHE (%) =1
EHEE (%) <7.5
FXERE (%) =10

EZR® (%) =*2

EB (%) =x25
BI(L/min) 1.9~3.0
FEHiis (%Ps/1%In) >30
RESE (AT=40C) (%) <i2
#EHEAEE(B0% ~100% ) P, (56) =12
EEEDSE (0~20%) P, (%) =+2
MEETELa=10g9 (%) <+2

W35 (~3dB ) (Hz) T
MERE ~50(30~63L/min)
HmE(-90°) (Hz) =40 (100L/min )

BEEE (T) -25~105
E® (Kg) =1.3

MElihiE40+67T; MLEHBED21MPa

2-31.5
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17. 29, 36, 58
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{ 100L/min)
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30~63L/min)
100L/min )

=25~105
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